S=1: 500

1FL

001

1/ 4




S=1: 50

S=1: 50

NQ 0

35cm)

VRp 50)

(300x 300x 30)

1.45
0.26
0.00
0.53

0.€'c

(18-5- 40BB)

(18-5-408BB

NQ 0+2. 0

1E1 001

2/ 4

0.32
0.26
0.60
0.53

0.€'c

(18-5-40BB




S=1: 50

& & & &
°lg 2 g
= & | &
w w | o
L=5. 0m
400 300 5, 000 300 400
9. 287 EZ EZ 9. 287
|~ -
o o o
3 5 & 3
o - o =l
¥ i £ ¥
I 2| |
) A o W
) o} o} o} (
6.917\/ \/_6.917
400 | 300 5, 000 300 | 400
L=5.0
1
35cm nt 12.4
RG 40 n? 2.7
WPy 50 m 1.6
300x 300% 30 nt 0.4
18-5- 4088 5.0
50
2.0
nt 1.3

1E1 001

3/4




S=1: 50

1,251
150 561 540 300
o
o
® 2
— ™
o
o
o
n
370 63 378 | 340
1,251 (18-8-4088)
1
18-8-40BB nf 0.42
nf 3.51

S=1: 20

A=0. 087nT

(18- 5- 40BB)

10m

18- 5- 40BB n? 0.87

S=1: 20

(18-8-25BB)

‘ 340

7] 8

‘200‘

10m
18- 8- 2588 n? 0.37
nt 1.00
2 1E1 001

4/ 4




